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the Answer Sheet liable for rejection.
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow. Your answers to these

items should be based on the passages only.

Passage—1

In India, over the last decade or so, labour has
been departing agriculture, but is only going to
construction and unregistcre.d manufacturing
which are not markedly better jobs. Services,
where labour tends to be most productive, are
not generating the additional jobs the country
needs. India will need 24 million or so jobs over
the next decade. The new sector, e-commerce,

can at best close only half the jobs gap. Only

those sectors that drive domestic demand such *

as health and education can comfortably fill the
other half.

1. Which one of the following is best
implied in the passage?

(a) Strong measures need to be taken
to reduce the rural to wurban
migration of labour.

(b) The working  condition in
construction and unregistered
manufacturing needs to be
improved.

(c) Service sector has been reducing
the problem of unemployment.

(d) Increased social sector spending

is imperative for large-scale job
creation.

HGY-D-LKUV/59A
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‘Passage—2

In India, the current focus on the right to
privacy is based on some new realities of the
digital age. A right is a substantive right only if
it works in all situations, and for evervone.
A right to free expression for an individual
about her exploitation, for instance, is
meaningless without actual availability of
security that guarantees that private force
cannot be used to thwart this right. The role of
the State, therefore, is not just to abstain from
preventing rightful free expression, but also to
actively ensure that private parties are not able
to block it. .

2. On the basis of the above passage, the
following assumptions have been made :

1. State should have some
institutions to ensure its
appropriate role in a digital society.

2. State should ensure that private
parties do not violate the citizens’

right to privacy.

3. Digital economy is not compatible
with the idea of not violating the
citizens’ privacy.

Which of the above assumptions is/are
valid?

(a) 1 and 2
(b) 3 only
¢/ 1and 3

(d) 2 only

[P.T.O.
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Passage—3

One of the biggest ironies around water is that
it comes from rivers and other wetlands. Yet it
is seen as divorced from them. While water is
used as a resource, public policy does not
always grasp that it is a part of the naf:.lral
ecosystem. Efforts at engineering water systems
are thus efforts at augmenting water supply
rather than strengthening the capacities of

ecological systems.

3. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

(@) Rivers and other wetlands should

be protected under Ramsar

Convention.

(b) Engineering water systems should

be modernized and further

augmented.

c) Wetlands need to be reinforced as
more than just open sources of

water,

(d) Water supply should not be free of
cost so as to prevent its misuse or

overuse.

Passage—4

Asset allocation is the most important
investment decision we will ever make, and
sadly, most of us do not give that decision the
importance it deserves. We are adamant about

seeking predictability with our future. We tend

HGY-D-LKUV/59A
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to think of investing in risky assets as
extremely volatile and value eroding. We also
dislike fluctuating returns and the loss of
control of investment. We think our money is
best left idle, unproductive but safe. There is
no asset that is risk-free. We could lose our
jobs, our homes can lose value, our banks
can go bankrupt, our bonds can default, the
government can collapse and companies we
chose fondly may cease to exist. But we cannot
live life assuming that all these extreme events
are waiting to happen, and all at the same time.
All these extreme forms of risks we know 'will

not manifest at the same time,

4. Which one of the following statements
best implies the suggestion given by
the author of the passage?

fa) Distribute your wealth
different kinds of assets so that
your risks would be minimized.

across

(b) Risk-taking behaviour should be
a necessary component of your
personality if you want to generate
wealth,

(¢} While making investments, find a
trustworthy asset management
organization which would manage

your wealth for you.

(d) You should know that investing
your money is a risky business.

[B.T.O.
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Passage—5

Although most of the Genetically Modified [GM)
crops cultivated now are genetically engineered
for a single trait, in future, crops genetically
engineered for more than one trait will be the
norm. Thus, biotechnology’s role in agriculture
and the regulation of the same cannot be
understood solely in the context of the current
generation of GM crops. Instead, there is a need
to take a comprehensive look, taking into account
various aspects, including socio-economic
impacts, so that the potential of the technology
can be hamessed while minimizing negative
impacts. Given the importance of biotechnology
in developing varieties that can help in climate
change mitigation and adaptation, not using
biotechnology as a part of the climate change
action plan cannot be an option. Domestic
regulation of biotechnology cannot be viewed in
isolation of trade policy and obligations under

various international treaties and conventions.
L

5. With reference to the above passage, the
following assumptions have been made :
1. Biotechnology regulation is an

evolving process.

2. Participation of people is needed
in policy decisions regarding
biotechnology regulation.

3. Biotechnology regulation should
take into account socic-economic
aspects in decision-making.

4. Wider involvement of political
executive in biotechnology regulation
improves its effectiveness in dealing
with the country’s trade policies and
international obligations.

Which of the above assumptions are

valid?

(@ 1, 2 and 4 only

(b} 1 and 3 only

f¢) 2, 3 and 4 only

(d 1,2, 3 and 4

HGY-D-LKUV/59A
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6. Which one of the following statements
best implies the crux of the passage?
(a) Precautionary principle is not given

‘importance in current debate on
developing GM crops.

(b) Biotechnology is not currently used
in climate change mitigation and
adaptation mechanisms.

(¢c) Biotechnology’s role is not confined
to the current priorities of
developing GM crops.

(d) The negative impacts of
biotechnology are not properly
understood.

7. How many zeroes are there at the end of
the following product?

1x5x10x15x20%x25x% 30

% 35 x40x45x 50x 55x 60
(@) 10 (b) 12
c) 14 [d) 15

8. Let XYZ be a three-digit number, where
(X+Y + Z) is not a multiple of 3. Then
(XYZ + YZX + ZXY) is not divisible by

(@) 3 (b) 9
(c) 37 (d (X+Y+2Z2)

9, Let p, g, r and s be natural numbers
such that
p-2016=g+2017=r-2018=5+2019

Which one of the following is the largest
natural number?

(@ p (b) q
fe) r : [d s
10. How many five-digit prime numbers can

be obtained by using all the digits 1, 2,
+3, 4 and 5 without repetition of digits?

(@) Zero (b) One
{c) Nine (d) Ten

[ P.T.0.
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11. In the sum 14. One page is torn from a booklet whose
pages are numbered in the usual
manner starting from the first page as 1.
for which digit does the symbol @ stand? The sum of the numbers on the
remaining pages is 195. The torn page
contains which of the following

B+1@+50+0@+@1=10@

e & numbers?
(b) 3 (@ 5,6
(c) 4 () 7,8
@ 5 () 9, 10
d 11, 12

12. If you have two straight sticks of length
7-5 feet and 3-25 feet, what is the
minimum length can you measure?

15. Consider the following arrangement that
has some missing letters :

abab_b_bcb_dededed_d

0-05 foot
(@) 00 » The missing letters which complete the

arrangement are
(b) 025 foot

(@) a, b,c, d
{¢) 1 foot

(b) a, b, d, e

{d) 3-25 feet
fej] a,c,c e

{d) b,c,d, e
13. A simple mathematical operation in each -
number of the sequence 14, 18, 20, 24,
30, 32, ... results in a sequence with
respect to prime numbers. Which one of
the following is the next number in the

16. Let A3BC and DE2F be four-digit
-numbers where each letter represents a
different digit greater than 3. If the sum

of the numbers is 15902, then what is

sequence? .
the difference between the wvalues of
(@) 34 Aand D?
(a) 1
{b) 36
“b) 2
(c) 38 o 3
(d) 40 (@ 4
HGY-D-LKUV/59A 9 [P.T.O.
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17. Two Statements S1 and S2 are given

below followed by a Question :

S1 : There are not more than two figures
on any page of a 51-page book.

S2 : There is at least one figure on every
page.
Question :
Are there more than 100 figures in
that book?
Which one of the following is correct in
respect of the above Statements and the
Question?

{a) Both S1 and S2 are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(b) S1 alone is sufficient to answer the

Question. "

(¢ S1 and S2 together are not
sufficient to answer the Question.

(d) S2 alone is sufficient to answer the
Question.

18. Consider the following data :

Average | Average
marks in | marks in
English Hindi

Girls 9 8
Boys 8 i
Overall average marks 8-8 X

What is the value of x in the above
table?
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19. A family of two generations consisting of

six members P, Q, R, S, T and U has
three males and three females. There
are two married couples and two
unmarried siblings. U is P’s daughter
and Q is R's mother-in-law. T is an
unmarried male and S is a male. Which
one of the following is correct?

(@) R is U’s husband.

(b) R is S’s wife.

(c) S is unmarried.

(d) None of the above

20. If in a particular year 12th January is a

Sunday, then which one of the following
is correct?

(@) 15th July is a Sunday if the year is
a leap year.

(b) 15th July is a Sunday if the year is
not a leap year,

fc) 12th July is a Sunday if the year is

(e} 78 <  a leap year.

(b) 76

fie " Ee (d) 12th July is not a Sunday if the

fd) 72 year is a leap vear.
HGY-D-LKUV/59A 11 [ P.T.O.
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Directions for the following 7 (seven) items :

Read the following five passages and answer
the items that follow., Your answers to these

items should be based on the passages only.

Passage—1

Private investment in general is volatile. Foreign
private investment is more volatile because the
available investment avenues are significantly
greater (i.e., the entire world). Therefore, the
responsibility of providing employment cannot
be left to Foreign Direct Investment (FDI). The
current FDI inflows are volatile over time and,
across sectors and regions, which is a
necessary consequence of their search for the
highest returns. The adverse consequences are
unstable employment and an accentuation of
income and regional inequalities. A probable
positive consequence of foreign investment is
the inflow of new technology and its subsequent
diffusion. However, the technology diffusion is
not at all certain because the existing state of
physical and human capital in India may prove

inadequate for the diffusion.

21. With reference to the above passage, the
following assumptions have been made :

1. Relying on foreign investment in
the long run is not an economically
sound policy.

HGY-D-LKUV/59A
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2. Policies must be undertaken to
reduce volatility in foreign private

investment.

3. Policies must be undertaken to
strengthen domestic
" investment.

private

4, Public investment should be given
priority over private investment.

5. Substantial public investment in
education and health should be
undertaken.

Which of the above assumptions is/are

valid?
@) 1, 2 and 4
(b) 1, 3 and 5

¢/ 2,4 and 5

(d) 3 only
Passage—2

Many opportunities to harness the highly
skewed, seasonal and spatial distribution of
monsoon flows, which occur in a four-month
period from June to September annually, have
been lost. Since these few months account for
most of the rainfall and consequent freshwater
availability, the need for holding rainwater in
reservoirs, for subsequently releasing it for use
over tlie year, is a necessity nobody can afford
to overlook. Climate change will continue to
affect weather conditions and create water

shortages and excesses. While millions suffer

[ P.T.0.
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from droughts and floods, waters in the

country’s many rivers flow unutilized, and are

discharged into the sea every year.

22. With reference to the above passage,
which of the following could be the most
rational and practical implications
for India?

1. Inter-linking of rivers should be
undertaken.

2. A network of dams: and canals
should be built across the country
for proper distribution of water.

3. Farmers should be provided easy
loans for digging borewells.

4. Usage of water for agriculture
should be regulated by law. 3

5. Distribution of river water among
regions should be regulated by the
Union Government.

Select the correct answer using the code
given below.

fa) 1 and 2
(b) 2, 4 and 5
fej 1,3 and 4

(d 2,3and5

Passage—3

People will invest in education whenever they
are granted the economic freedom to fully enjoy
its benefits. Again, this is for the obvious reason
that the return on education increases as the
level of economic freedom rises. When people,
thanks to lower tax rates, are allowed to retain
most of the higher income that they gain from
each incremental level of education, it makes
eminent sense to invest in education. On the

HGY-D-LKUV/59A
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other hand, when the government decides to
tax the higher income of educated individuals
at even higher rates, it makes very little sense
to invest in educating oneself further. The same
incentives apply to parents who decide on
whether to invest in their children’s education.

23. With reference to the above passage, the
following assumptions have been made :

1. Lower tax rates in a country
invariably translate into greater
investments in higher education.

2, Investment in the education of
children ensures their economic
freedom.

3. Economic freedom has a positive
impact on building up human
capital.

Which of the above assumptions is/are
valid?

(a)
()
(c)
(d)

1 only
2 only
3 only

1, 2 and 3

Passage—4

Our urban bodies cannot possibly ensure
sustainable delivery of water in our cities
unless financing mechanisms are put in place.
Water delivery requires heavy investment in
collecting it from a natural source, treating it
to make it potable, and laying a distribution
netwerk of pipes for delivery to the users. It also
requires investments in sewerage infrastructure
and sewage treatment plants so that the sewers
can carry the wastewater to these plants to
ensure that no untreated sewage is discharged

[ P.T.O.
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back into natural water bodies. If our cities
were rich enough to meet the entire cost, water
could be delivered free. They are not.

24, What is the most logical and crucial
message conveyed by the passage?

() Urban local bodies must recover
costs through user charges. »

Urban local bodies are not efficient
enough to meet the water
requirements of our cities.

(b)

Water shortage in our cities is a
perennial problem that cannot be
solved.

(c)

In view of the water crisis in our
cities, there is an urgent need to
limit the population of cities by
adopting an upper limit of
population size.

(d)

25. With reference to the above passage, the
following assumptions have been made :

1. Rich cities only can ensure
sustainable delivery of water.

2. Sustainable delivery of water in
cities means much more than
supplying water to households.

Which of the above assumptions is/are
valid?

(a)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Passage—b5

In India, agriculture still engages about half of
its workforce, and about 85 per cent of its farms
are small and marginal. Compared to China
and Vietnam, which have experienced fast
structural and rural transformation, India’s

HGY-D-LKUV/59A
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story is of slow transformation. As a result,
poverty reduction in India was at a much slower
pace during 1988-2014, compared to China
and Vietnam. India’s poverty reduction was
slow during 1988-2005, but during 2005-2012,
it accelerated dramatically—almost three times
faster than during the earlier period. What did
India do during this period? Research reveals
that the relative price scenario changed
significantly (by more than 50%) in favour of
agriculture in the wake of rising global prices.
This boosted private investments in agriculture
by more than 50%. As a result, agri-GDP
growth touched 4-1% during 2007-2012 as
against 2'4% during 2002-2007. The net
surplus. of agri-trade touched $25 billion in
2013-2014; real farm wages rose by 7% per
annum. All this led to unprecedented fall in

poverty.

26. With reference to the above passage, the
following assumptions have been made :

1. Structural and rural transforma-
tion is impossible when farms are
mainly small and marginal,

2. A good price incentive can trigger
investments in agriculture.

3. India needs to build value chains
for high-value agri-products like
livestock and horticulture.

4. Higher global prices of agricultural
commodities are essential for
India’s poverty reduction.

Which of the above assumptions are
valid?

(a)
(b)
(c)
(cl)

1 and 3
2 and 4
2 and 3
3 and 4
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27. Which one of the following statements

best reflects the critical message of
the passage?

(a) India should create large-scale
off-farm rural employment to
reduce poverty in the near future.

(b) India should create a large number
of farmer producer companies.

(c) Private investment in agriculture
should be given priority over public
investment.

(d) Inclusive agricultural growth is
key to reduce poverty in the near
future.

28. Two Statements S1 and S2 are given

below with regard to four numbers
P, Q, R and S followed by a Question :

S1: R is greater than P as well as Q.
>

S2 : S is not the largest one.
Question :

Among four numbers P, Q, Rand S,
which one is the largest?

Which one of the following is correct in
respect of the above Statements and the
Question?

(a) S1 alone is sufficient to answer the
Question.

(b) S2 alone is sufficient to answer the
Question.

{c) S1 and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(d S1 and S2 together are not
sufficient to answer the Question.

¢ (d) S1

f’ Q‘\—'
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29, Two Statements S1 and S2 are given

below followed by a Question :
S1 :n is a prime number,

82 : n leaves a remainder of 1 when
divided by 4.

Question :
If n is a unique natural number
between 10 and 20, then what is n?

Which one of the following is correct in

respect of the above Statements and the

Question?

a) S1 alone is sufficient to answer the
Question.

(b) S2 alone is sufficient to answer the
Question.

(¢) S1 and S2 together are sulfficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(d) S1 and S2 together are not
sufficient to answer the Question,

30. Two Statements S1 and S2 are given

below with regard to two numbers
followed by a Question :

S1 : Their product is 21.

S2 : Their sum is 10.

Question :

What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question?

(a) S1 alone is sufficient to answer the

Question.

(b) S2 alone is sufficient to answer the

Question.

{c) S1 and S2 together are sufficient to
answer the Question, but neither

S1 alone nor S2 alone is sufficient

to answer the Question.

and 82 together are not
sufficient to answer the Question.
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31. A man walks down the backside of his 33. Two Statements are given followed by two
house straight 25 metres, then turns to Conclusions :
the right and walks 50 metres again;
; Stateme :
then he turns towards left and again = i
walks 25 metres. If his house faces to All cats are dogs.
the East, what is his direction from the All cats are black.

starting point?
Conclusion-I ;

{a) South-East All dogs are black.

(b) South-West Conclusion-II :

Some dogs are not black.

{c) North-East
Which of the above Conclusions

logically follows/follow  from  the
two given Statements, disregarding
commonly known facts?

(d) North-West

32. Two Statements are given followed by two g
{a) Only Conclusion-I

Conclusions :
Statements : (b) Only Conclusion-II
All numbers are divisible by 2. (c) Neither Conclusion—I nor
All numbers are divisible by 3. A Conclusion-II
Conclusion-] : g
(d) Both Conclusion-I and
All numbers are divisible by 6. Conclusion-II
Conclusion-II :
All numbers are divisible by 4. 34. Consider the following sequence of
numbers :
Which of the above Conclusions
logically follows/follow from the two 51473985726315
8638522434906

given Statements?

-How many odd numbers are followed by

(a) Only Conclusion-I the odd number in the above sequence?
(b) Only Conclusion-II (@) 5
c)] Neither Conclusion-I nor (b) 6
Conclusion-II
(¢ 7
(d) Both Conclusion-I and 2
Conclusion-II (d) 8
HGY-D-LKUV /59A 21 [P.T.O.
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35. ASH *I TH ufth A A 91¢ SR ¥ 169 WM W

3R VI SR W 183 WA W R G, A o
FHR 113 3R v A 9 wF W 9 gr
3R 2| ufts # frad wre¥ &7
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38. Wil Toh €1 u1g % =l P 3R Q % FHW: x, y

AFTH §; m, n FEEA &1 Q R WAH g P
1 ATH 2 R Q F FHAR P w1 A R
Wﬁ?u=m/x3ﬁ"{v=nfyélﬁ'ﬂ!ﬁ1f@ﬂ
# ¥ w91 T 27

{a) 40
(b) 41
(© 42 fa) u=4v
(d) afy Afwsl & wru FuifE & fen (b) u=2v
S gl B
fc) v=u
36. o %94 S1, S2 3R s3 2 Ru v § ReS
IR T T B (d) v=4u
S1:C, DA BRIW A 3R B == 3
S2 : Dgad W91 2 89. T fhierk 3R ofFF ol B ofvwa amg 20 af R

Afe dF1 B@ "wuH 3 % € @R fiew e

S3: A, BU eI | T4 B F 1Y F e 20 99 7, @ few

W A1y ferat 27
A, B, C#R D & well B %1 27
e 3 4 - 3 Rrd gu el i, g
e & dedf o wdt 87 () 30 a8
(@) S1 el € Y 1 IR 2 F fow wfw
21 (¢ 3579
(b) S1 3R S2 THEY YH H IW 3 F frw
i ) (d) 45
fc) S2 3R S3 THATY TH 1 IW 4 & g
9aiy
mi' 40. TH =Rt 4 Th SR @0d i ¥ 3,00,000 H
(d) :ﬁr S3 THATY T H1 IW A F e a= @ afk | 20% A =l BER ud, @
gl T wT Gl § e v Ry
37. 1%100%%%@@@%% (@) ¥ 3,60,000
T 31 4 2 wifed 9 4 9 s a8 €7
(@) 5 (b) ¥ 3,65,000
(b) 11
(c) &3,70,000
(c) 12
(d) 13 ‘  (d) ¥3,75,000
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A is 16th from the left end in a row of
boys and V is 18th from the right end.
G is 11th from A towards the right and
3rd from V towards the right end. How
many boys are there in the row?

{a) 40

(b} 41

(¢} 42

(d} Cannot be determined due to
insufficient data

36. Three Statements S1;, S2 and S3 are

given below followed by a Question :

S1 : Cis younger than D, but older than
A and B

52 : D is the oldest.
S3: A is older than B.

Question :
Who among A, B, C and D is the
youngest? »

Which one of the following is correct in

respect of the above Statements and the

Question?

(a) S1 alone is sufficient to answer the
Question.

(b} S1 and S2 together are sufficient to
answer the Question.

{c) S2 and 83 together are sufficient to
answer the Question.

(d) S1 and S3 together are sufficient to
answer the Question,

37. How many integers are there between

1 and 100 which have 4 as a digit but
are not divisible by 4?7

((Z7)
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38. Let x, y be the volumes; m, n be the

masses of two metallic cubes P and Q
respectively. Each side of Q is two times
that of P and mass of Q is two times that
of P. Let u=mfx and v=n/y Which
one of the following is correct?

(fa) u=4v

fe] v=u

(d v=4u

39. The average age of a teacher and three

students is 20 years. If all the three
students are of same age and the
difference between the age of the
teacher and each student is 20 years,
then what is the age of the teacher? -

{a) 25 years
(b) 30 years
{c) 35 years

(d) 45 years

40. A person bought a car and sold it for

¥ 3,00,000. If he incurred a loss of
20%, then how much did he spend to
buy the car?

(@) € 3,60,000

(b) ¥ 3,65,000

(@ S
(b 11 ‘c) ¥ 3,70,000
(c) 12
(d) 13 (d} ¥ 3,75,000
HGY-D-LKUV/59A 23 [ B0
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Fefetaa 6 (v:) wyaivit % forg fadwr

A= g g ot ufedst A oRe i wheddl ¥ 9
A A1 Wi % S AR B v % ey
erel 31 UR=dEl W € a8 =y

uftedT—1

Wi s 1631 wrmaredt ¥ Iwadf # wwelt ww <f
STl /o1 e g0 e, Fred Wl 1od
Wﬁ%ﬁﬁqmé@muﬁzﬁaﬁﬂmaﬁﬁ
u RHell # Tl gffe @ omn smade-ard
wMg & e g yum @ % w9 g w ik A
T SR A e w9 Y I6h T g R,
1S R I @, Rl sigefins siqeen 91w 59w
"BIERIRT FRAT (Phytophthora infestans)’ 3
A AT T 3§ fofa @ e R 1845 ¥ 34
TG F9h F et 3w dn F e awew o
fean sl o vy & oY A v weht @l ) T
o) goh aomrerey Y st Y F il @il
! AR T a1 frenfia .

41. Fefafes & F Fa-w1 wom e ¥ il
H3VT T WaraT J97 Ay 27

() Tt foacelt vy =t et 2w & wmifye
= % e 3 A o i s
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ufedg-—2

WA g W Rl 89 ael dfus s
AR, B o 7 fr o W i g el
B0 ot & ¥ el v stz T aifig a3
R R A, w ol s it st T A o
Wﬁaﬁl-sﬁ%q?aﬁiﬁﬂwm&aaﬁaﬁﬂ
mmm%fﬁﬁﬁﬁ?ﬁﬁﬁﬁm%,?ﬂﬁﬂ
@mﬂﬁﬂmmﬁﬁﬁ@%w#ﬁmﬂm
mﬁ@ﬁwﬁ#wﬁwﬁqﬁaﬁﬂﬁgﬁﬁm
®15 94 & F0 1Y F w44 ARrE 5 sfiEie
1 768 37! e A e o s 8w shfE
FAH H HTE AN ¥ 7R S gl ama
T T T4 A T - A 2

42. 3% WR=dr ¥ wed #, fefuRes § @
BA-U/Y @l g v s
ffgaref & /%7
1. 9Rd & g fomor yreh 9 3
TR BRI AR R S A

2. wifeRel ) faame @ v 7 Rafig
w0 % o deanfea sen =il

3. % G 9% A B wAH WA ¥
W#ﬁﬁ?ﬂ%ﬂma@l

4. “‘ﬂ%mﬁtﬁﬁﬁﬂﬁﬁqﬁmﬁ
weaal glawat i agfd ghifim s
|

5. mﬁwﬂﬁaﬁumﬁﬁﬁﬁﬁmgﬁﬁa

(b) Wﬁm%m@m%mﬁm@m
%2 A1l T, U el e HE e
< G | e feq 1Y 2 1w w w Iw gy
(c) Ul % FT b wE a2 A § (@) 1,2, 3 3R4
Wﬂ%%mﬂmqﬁmml {b} 2, 3’431-1_{5
(d) Torelt et @ma da o fek g g ;s (o) FEE1
By (@) ¥ 3 ok 5
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

Spanish ships in the late 16th century first
brought the potato tuber from South America to
Europe whereby in the early 19th century, it
had become a reliable backup to cereal crops,
particularly in the cold, rain-soaked soils of
Ireland. The Irish were soon almost wholly
dependent on the potato as their staple food.
And they were planting primarily one
prodigious variety, the ‘Lumper’ potato, whose
genetic frailty would be cruelly exposed by the
fungus ‘Phytophthora infestans’. In 1845, spores
of the deadly fungus began spreading across
the country, destroying nearly all the Lumpers
in its path. The resulting famine killed or
displaced millions. b

41. Which one of the following statements
best reflects the critical message of
the passage?

(a) For introducing any foreign plant
into a country, the soil and climate
conditions of that country should
be suitable.

(b) As a staple food of a country, tuber
crops like potato cannot replace
cereal crops.

fc) Some of the fungal infections of
plants cannot be prevented or
stopped from spreading across
large areas.

(d) Relying on a homogeneous food
source is not desirable.

HGY-D-LKUV/59A
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Passage—2

India is at once among the fastest growing
global economies and home to the largest
number of malnourished children in the world.
There are regions where malnutrition is not
the exception but the norm. And across the
country, malnutrition is the cause of death for
roughly half the 1-3 million children who die
before their fifth birthday each year. Even those
children who survive suffer permanently from
the damage that has already been done to
their bodies and minds from not getting enough
of the right foods and nutrients. Around
44 million children under 5 are stunted. That
makes it harder for them to learn in school and
subsequently earn a living as adults. Their
lifetime earnings potential is almost a quarter
less than that of their healthy peers.

42. With reference to the above passage,
which of the following is/are the most
rational and practical implication/
implications?

1. India’s Public Distribution System
should be monitored by the Union
Government.

2. Girls should be encouraged to
delay marriage and first pregnancy.

3. Mothers should be encouraged
to  breastfeed their children
immediately after birth.

4. The supply of safe drinking water
and proper sanitation facilities to all
should be ensured.

5. Authorities should ensure the
vaccination as prescribed.

Select the correct answer using the code
given below.

fa) 1,2, 3 and 4
(b) 2, 3,4 and 5
() 1 only

({d) 3 and 5 only

[P:T0s

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




ufede—3

qoed 6 yenfd g SReR 167 @1 g, gREmn iR
I W F am I A A ol s Tl o &
I S GEHA h WIS B IWh IeqrEmar (e
2000 fho Tto/F@ew) Iuerew yenfedi it gern #
meEg w9 Y ol dh ohe dfe Soh wER §
el gefl, Iudl werd meiet @ off due dvft wd 3wl
WRA % I U, S A TH a5 b1 TET U
% for #@ €, ¥ fog v seds fashwan €fl) el
Heequl 48 ® TR oWE W gE, WA % gene &
owdia, &0 g € SR 3@ ga d Sow S 1 wehd g
g % gere # R 9g € 6 Ger@dl (silica) it A
afirs Bt & S orurl A Iue amee W AN A
3REL H HATH T8 & a1 ot F9F ) o §L YA F
B gHSl A Fed & fur Faw WRA T@m f
FEwawal Bt ¢ 52 9w Siar s wsar @ o S
g sl ¥ (Eied & W ¥ 98 g9 % ¥ §Q
Sadll & g FieA & f st & Frewren @ avw @
ST ST Eehd1| gAY, FUh WIYRUE: W SN 6
HTH TRl T & |

43. F=fafas & 4 ¥9-9 W walfds adham
e 2 St 3wdw uiese @ fee s
27

1. °F & gel | T ITH | FAH
g Aferen gl

2. Telgd ITHI, 9 IR h g A wH
WGY] IqH Al &

3. <@gd % YT 1 A geT i e |
gur @ F forg o < gk 21

4, 0@ wrd I FN F dasl A, um F
gare <l 1S e 7€t 21

5. weiiigd @t 43 e w1 gE w5 B
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= e g e w1 Wi Wl 3w ghuy
(@ 2, 3315
(b) 1,435
(c) et 2 3 3
(d) *ad 1 3R 4

uf=de—a4

WRA H, Wit ARga g § semEl § sifteran s
o0 & 6 Fifiw w@ E R mif % 6§ e
wE g, Icuren % forg wevn & i s R 1 wegE g
A F THE SR H 99 B o i w8 R
@ e el v ° wfieE e ¥ Yo el
Hifs 5 AFET H qul At B A afils i wiw F
o & T s € qun wie W Fafa s i S s
o Hh| Wy WU ARE % e BN @ s @
SenerEl At - -3t wier geE W o 8, Rl
ftren g 3eared wd fiend gifaa 6 smw)

44, 3w whede % wed ¥, ffafan o
TS R ©
1. wiemEl # Al Se a1 BN 9
it siiftgm, Sowfe siEisme w e
reafies frsfn & #Rw 3

2. STl h WUEY §HA H HEER Fg F ©
suar dRE gl swEr 4 R s

=nifae|
3. wra A arg o & fog afei A yftem
! B HH i T B

It A ¥ FA-d Eeren/gEurond. 3
#/87

(@) e 132

é(b) <haw 2

(c) a3

(d) 1,2 3R 3




Passage—3

The pulse variety ‘Pusa Arhar 16’ has the
potential to be grown in the paddy-growing
regions of Punjab, Haryana and Uttar Pradesh
and eventually in all of India. Its yield (about
2000 kg/hectare) will be significantly greater
than those of the existing varieties and because
its size will be uniform, it will be amenable to
mechanical harvesting, an attractive feature for
farmers in northern India who currently use
this technology for paddy. Most important,
Arhar straw, unlike paddy straw, is green and
can be ploughed back into the soil. In paddy
straw, the problem is the high silica content,
which does not allow for easy decomposition.
In the case of Arhar, the farmer, even after
combine harvesting, just needs to run a
rotovator to cut the leftover straw into pieces,
which can be ploughed back and will
decompose very fast. All this is difficult with
leftover paddy stalks that cannot be easily
salvaged or ploughed back. Farmers, therefore,
choose the easiest option of simply burning jt.

43. Which of the following are the most
rational inferences that can be made
from the passage?

1. Farmers’ income will be higher with
pulse cultivation than with paddy
cultivation.

2. Pulse cultivation causes less
pollution as compared to paddy
cultivation.

3. Pulse straw can be used to improve
soil quality.

4. 1In the context of northern Indian
agriculture, paddy straw has no
usefulness.

5. Mechanized agriculture is the main
cause for stubble burning.

HGY-D-LKUV/59A
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Select the correct asswwkdoselis weags
given below.

fa) 2, 3 and 5

() 1,4 and 5

(¢ 2 and 3 only

{dj 1 and 4 only
Passage—4%

In India, authorities always look to store the
maximum amount of water in reservoirs during
the monsoon season, which is then used for
irrigation and generation of electricity during
the summer months. It is an internationally
accepted practice that the water level of a
reservoir should be kept below a certain level
before the onset of monsoon season. This is so
that when monsoon rains come, there is space
to store the excess rainwater and also so that
water can be released in a regulated manner.
But the authorities store the maximum amount
of water in reservoirs even before the close of
the monsoon, only to ensure greater electricity
generation and irrigation.

44. With reference to the above passage, the
following assumptions have been made :
1. High risks involved in holding

maximum water in reservoirs are
due to our over-dependence on
hydropower projects.

2. Storage capacity of dams should
not be fully used before or during
MONSO0N Seasor.

3. Role of dams in flood control is
underestimated in India.

Which of the above assumptions is/are

valid?

(@)
(b) 2 only
() 3 only
(dj 1,2 and 3

1 and 2 only

[ P.T.O.

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




ufede—s

wiRd ° 7 Sediel @1 wew aAfusat @R @
il wmenelt @ @¥ gan w1 7 6 swa A onfw
mefisme ¥ stva ddeety fFma F Rt 41 o,
e v vl hil dmmd off s 9e § agwa | g
g1 i el F wRw @ Usm-fade g, waa
et iR et s wrene ¥ w9 4 39d ¥ e
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@ g & FN, s, et @ e S
% Wl ofigw W dgmeRa €1 Ak enfie gfe @ s
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A fo e e 1w R wd IW g
fa) =@ 1

(b) a2

fc) 1 3 23

(d T@1,a82

a6. 3T wde & ded #, Freffad o

TE RS :

1. 9a 6t wderezyn 9t Afis adsgaen
A it gfhd w0 6 rEvEEa @
difer TR 1 =€ wen | g fen
wh qU1 gEk gfg T A S @ .,
|

2. i g @ geq s gfg Brft
Foraw diefeprat A il wft SR UsPm =81
wf e 2|

IEE H W RH-H qEuRen/qhurond. Ay
B/e?

(@) *Had 1
(b) FaE 2
c) 1R 2IH

(d AW 1,9€ 2
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Passage—5 Select the correct answer using the code
given below.

liconomic liberalization in India was shaped

largely by the economic problems of the @) 1 only
government than by the economic priorities

of the people or by the long-term development (b} Geonly
objectives. Thus, there were limitations in 7% ‘Doth 1 endl B
conception and design which have been

subsequently validated by experience. Jobless (d) -Ncither 1 nor 2

growth, persistent poverty and rising inequality

have mounted as problems since economic

liberalization began. And all these years later, 46. With reference to the above passage, the
four quiet crises confront the economy; following assumptions have been made :

iculture, infrastru , industrialization y
AS HEe, WORSEUCIIES; s 1. India’s economy needs to be greatly

and education as constraints on the country’s integrated with global economy so
future prospects. These problems must be as to create large number of jobs
resolved if economic growth has to be sustained and to sustain its growth

and transformed into meaningful development. momentum,

2. Economic liberalization would
cause large economic growth which

45. Which of the following is/are the most would reduce poverty and create
rational and logical inference/ sufficient employment in the long
inferences that can be made from the run.
passage?

Which of the above assumptions is/are
_ valid?
1. It is essential to rethink and
redefine the economic role of the
(a) 1 only
State in the quest for development.
(b) 2 only
2. India has not made effective
implementation of its policies in (c) Both 1 and 2
social sectors nor made sufficient ¢
investments in them. (d) Neither 1 nor 2
HGY-D-LKUV/59A 29 [ B.T.O.
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47. Th Y W, TF FHARR, T Tes 5 e g2 49. = A g v @ w0 7

o Tarspeq a1 §

1. 10%@120%@%@3&?@@ ACPQ : BESU :: MNGI : @
10% BaT & 1 P

2. 20% ¥R 10% N Fhims a2 iR Tgwia (a) NPJL
10% Ha1 % 1 PaH |

3. WEd 10% WA W H YAE TR (b) NOJM
20% 3 10% ) s g2

Fmfafe & 3 @-w e 27 () NPIL

(a) TeF % TIC Faa 1 we@ 1=w1 Frpey
Rl .' (d) NPIM

(b) TEF % T Few 2 qoR =1 Ferew
2
50. 71 & wF-f gad 9 wem 27

[c) TEF % foie Faa 3 we@ or=m fasey

2
-6
(@ TEF 5 fag wft fkeq v w9 Y M(E]
=3 g
: Iy
48. AR Z @ % auf 1 ¥ 26 7% sum: FHiHA ) (;{J

g e §1 3R GHI = 1578 31 DEF = 912
&, @ ABC Fora auar 27

(a) 492 | 3
@ (3)
(b) 468
fc) 262
1\-2
(d) 246 (d) [g)
HGY-D-LKUV/594 - 30 ; M
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47. A shop owner offers the following 49. What is the missing term @ in the
discount options on an article to a following?
customer :

ACPQ : BESU :: MNGI : @
1.  Successive discounts of 10% and

20%, and then Pay a service tax

of 10%
(@) NPJL
2. Successive discounts of 20% and
10%, and then pay a service tax
of 10% (b) NOJM
3. Pay a service tax of 10% first, then
successive discounts of 20% and (¢) NPIL
10%
Which one of the following is correct?
(d) NPJM
(@) 1 only is the best option for the
customer,
(b) 2 only is the best option for the
Customer. 50. What is the largest number among the
' following?
¢/ 3 only is the best option for the
customer,
1V°6
; (@ |=
(d) All the options are equally good for (2)
the customer, ;
48. The letters from A to Z are numbered (b) (i)hs
from 1 to 26 respectively, If GHI = 1578 =
and DEF = 912, then what is ABC
equal to?
(@) 492 14 i
¢ @ (3
3
(b) 468 " g
(e} 262
1\-2
@ (3)
(d) 246 6 ::
HGY-D-LKUV/59A 31 [ P.T.O. ;
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51. aifuepen wraTs x &0 g, a6 3-12-m3$rt
83 m, x % qoifes 7o /7

(@ 1% m
(b) 1-:1; m
(c] 1% m

(d 13 m

s2. e aifrel w famm i

L e g
1911-1921 481 355
1921-1931 464 363
1931-1941 452 31-2
1941-1951 399 274
1951-1961 417 22-8
1961-1971 41-1 189
1971-1981 371 14-8

fra wEmEly o efes fem @ iR
17

(@ 1911-1921
(b) 1941-1951
(c) 1961-1971

(d) 1971-1981
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53. 37ad evdeE FEgu 1.272727... f6us @am
27

(@ 13/11
(b) 14/11
(c) 127/99

(d) 137/99

54. IR @ H TR o e wH-4 ¢ 3,
4,5aﬂzséﬁmﬁa$@mmm2m
sl o

(a) 1012
(b) 1022
(¢} 1122

(d 1222

55. T Wel ) Tu gt § 40% ge 3 30%
Tfent fafe 1 fefe o= @ @
v =0 3, 3R @ f g s @ Al
afeen ¥ fraw T8 wa & R FE o Al
o A e qen A e @ wl & ol e
1 fawar i fage 7df &7

(@) 331%

(b) 34%

(c) 34%%
(d) 35%

32
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51. What is the greatest length x such that 53. The recurring decimal representation

3% m and 8% m are integral multiples 1-272727... is equivalent to
?
of i (@ 13/11
(@ 11 m (b) 14/11
B 1 (c) 127/99
(d) 137/99
(c) 1;14- m
(d 1 % - 54. What is the least four-digit number

when divided by 3, 4, 5 and 6 leaves a
remainder 2 in each case?

52. Consider the following data : : (@) 1012
Year Birthrate Death rate (@ 196
1911-1921 481 356 - fc} 1122
1921-1931 464 363 by 1280
1931-1941 45-2 3IE
1941-1951 39:9 274

55. In adult population of a city, 40% men
1951-1961 417 22-8 and 30% women are married. What
is the percentage of married adult
population if no man marries more than
1971-1981 37-1 14-8 one woman and no woman marries
more than one man; and there are no
widows and widowers?

1961-1971 41-1 189

For which period was the natural
growth rate maximum? (@ 33 _'1? %

(@ 1911-1921
(b) 34%

(b) 1941-1951

‘() 34Z%
(c) 1961-1971

(d) 1971-1981 (d) 35%

HGY-D-LKUV/59A 33 | P.T.O.
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56. W& 51x27 % 35x 62 x 75 % 100 ¥ faqfsa
form e 2, @ Duwe w27

(@) 50

(b) 25

¢ 5

(d 1
57. Ezscnﬁwmaﬁx vy3R zd
S % ogym # fomfm fen s R

afwama?ﬂnﬁaqm%aﬁam-
w1 87

fa) ¥ 300
(b) ¥ 350
fc) 400
(d) ¥ 450
58. n % frg 7F & oI @@ (10" + 1) & el &1
am 2 87
(@) ad n=07%% fog
(b) T 9of dEm o F o
fc) Hact fret v quife n % R

(d) Tordh arafass @ n % fog
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59. TF 5&1 A W wg A, Bain cR1 AR W A
¥ & Frenedl ofe wg B @ T Rt =
WE C W WAEia fFm s %, @ wa %
ferenféfadt & i R &1 @ Am?

fa) Ie ¥E STl
(b) TE HE ST
(c) a” & @I

(d) A 3ihel & R HE s T8
Terren s wenan 21

60. TeaF €50, €100, €200, €500 3R
72,000 & WY, Th gAY H FA-U-FA A
Tegart ® o g, Feoht fiftm aofiat ad
T Rt &7

(a) 16
(b) 15
s (o 14

(d) 10
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56. What is the remainder  when 59. In a class, there are three groups A, B

51x27 x 35x 62 x 75is divided by 1007 and C. If one student from group A and
two students from group B are shifted
to group C, then what happens to the

i =0 average weight of the students of the
class?

(b) 25

fc) S (a) It increases.

(d@) 1

(b) 1t decreases.

587, A sum of ¥ 2,500 is distributed among
X,Y and Z in the ratio 1: 3: 3. What is (¢) It remains the same.

the difference between the maximum
share and the minimum share?

* (d) No conclusion can be drawn due to
(a) €300 insufficient data.
(b) €350
fc) ¥ 400 60. How many different sums can be formed
with the denominations ¥ 50, ¢ 100,
¥ 200, ¥500 and ¥ 2,000 taking at
g e least three denominations at a time?
58, For what value of n, the sum of digits in (@) 16

the number (10" +1) is 27?

(a) For n=0 only (b) 15

(b) For any whole number n

fc 14
(c) For any positive integer n only
(d)] For any real number n (d) 10
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Fraferfaa 6 (9:) wewiwt & forg e

I fiu U ute ufedet &) ufey oit ofi=dd & R
M 9T T % I AR 3 gwiEt ¥ gy W
Faa 3 afeael v € snurfa BF =iy

Tieag—1

afrenfies daet #) fie 9@ 3% o1 F Ggen gRe @
T R E sl i R W R @ iR o oW
R frew # gfifa 0 % fog sevas ¥ wwen
% 33M fUga 25 auf & a1yl gurt # fifka €1 1901
& Qo % 390q el o g wErar Fem < v w5
T HEATTd IREcH TH =TT o1 | st 3R 9 el T
AR Aderaeen § F #) wifia 0 W@ 3R emwd
A R xgafa IR =R o T S ) we @ W
hd i I¢ da w0 R B 3 e @ R
FeR, B 4 @ A 6 B i st G
TRl Bl ¢

61. 30w wheae ¥ fafafes & ¥ @F-w
waifee arfhe ik addma fred R
ST Hehell &7
(a) SRR s sawen 3w i anfde fmm
% g d W W @ R
1991 # wRw fobw wu anfdes guwd A
et % o W oo gum W
e gl 2
WRd ¥ o) h e A fued % fog
| wiswar T B
Hrenfies Yt & feh Faw =t dieamea
1 39 WHL F ¥ W F I i
T o7eaT fashey Bl

afede—2
RG § GR F hl e g @1 g w9 98 g
w & 6 7 o1oft Il w0 6 fore ik sul R
S A B W FB A e difsd
IeqIe-FR <l T A 6 Foaw anfi off o @ra ase

(b)

(c)

(d)
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Td WO @6 W R R §) WRd WK 2030 %
Ieqsi bl 33 WA FH A F 3T @49 W g ¥4 @
yfterg & o 34 fem o SeR W i sferawn
w1 T | Mewred R ¥ o el o & Wil
faw off fen 81 Wy = WA, W oww § 5=
dedieh afl 9% SAR T R, Tefeuia et § s fEw
w0 7 feafrn ®

62. 3w Ufeae ¥ Fefafes & ¥ @¥R-m
waifres aifhar i adhaaa sy e
1 Gkl 27 '

@) IESH H 33% HIH B WG A
gferergan 1 WTH 1 S B

(b) ¥Rd I TR GaeE § Few w0 F
TSI T 1 3TATE HE1 =R

(c) eteuita WEIEHl i Sga Sedl AR §
AT HEM B Fhar 21

(d) wra = Tk m B @ d el
T T 1R

63. 39w Wi=dr % e #, Frafafiga qeemomd
S TS E '
) 1. W@R I W aEE W sem ue i
il e ot & W faee wfesy %
fere dam & @ wandh

2. 2030 Wh IrGs H 33% Herd! i WA
4 sftmga fe-enuifa srdemarer W
Fsdt 2t

B/e7

(@) a9 1

(b) FaA 2

(c) 1 3R 23M
(d /1,382

woiE # ¥ A ghon/ghoont |

e LR

e

]
B

gi Cl
bi

MY
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow. Your answers to these

items should be based on the passages only.

Passage—1

Bank credit to the industrial sector has started
shrinking. Its decline has been a serious
concern as credit growth is essential to revive
investment. The problem’s origins lie in the
incomplete reforms of the last 25 years. An
institutional change that should have followed
the 1991 reforms should have been setting up
of a resolution corporation for banks. In a
market economy with booms and busts, banks
should be allowed to be set up and to fail.
Today, we cannot shut down banks because
there is no proper system to shut them down.
Weak loss-making banks continue to need more
capital.

61. Which one of the following is the mogt
logical and rational inference that
can be made from the above passage?

(@) Indian banking system is not able
to help the country in its economic
growth.

(b) Economic reforms that started in
1991 have not helped in improving
the economy to expected levels.

(¢) India lacks the institutional
mechanism to deal with the failure
of banks.

(d) Encouraging the foreign
investments in our industrial
sector is a good alternative to this
sector’s dependence on banks for
credit.

Passage—2

India has tremendous potential for solar
energy. We all realize that we have to stop
burning fossil fuels to meet our energy needs.

((Z7)
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But certain renewable resources are still going
through their cost curves and learning curves
to get the required amount of output. The
Indian Government has strongly committed to
its targets of reducing emissions by 33 per cent
by 2030, and towards this it has initiated a
strong push towards a gas-based economy and
has also invested heavily in renewable energy.
However, business houses are wary of investing
too heavily in renewable energy at a time when
the technology is not yet ready.

62. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

(a) India’s commitment to reduce
emissions by 33% is unlikely to be
achieved.

(b) India should import gas rather
than invest in renewable resources.

{c) Getting renewable resources to
market too soon may be costly.

(d) India should put in more efforts in
the exploration of natural gas.

63. With reference to the above passage, the
following assumptions have been made :

1. Governments often provide
inefficient and costly subsidies for
technologies that may not be ready
in the near future.

2. India’s commitment of reducing
emissions by 33% by 2030 shall be
on the basis of gas-based economy.

Which of the above assumptions is/are
valid?
(@) 1 only
# (b) 2 only
() Both 1 and 2
(d) Neither 1 nor 2
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ufede—3

e "urga, fHim weam @ fim € S g
fad w9 ¥ yry W F 3@ 9 w1 w@ o @
vefua ® foren ufafda e st 9% R I 6 Yo
FH S TE T TP WA & feg wied s
S "h I IAEEHAl dGR W Gh| yigewdal AT
foedan w0 % fou “anfogs $=0 o1 g = £ ein
o W a2 ST aredl § 2R el sr wfas
yfsn 2, S uey W F ey % 9 8N WA
IeafEdl @l 3w w wedl B, S 6 3@ gry W
afgs g1 9 A § 5 @ 3 gew w9 R
3 i yErTITenal # Ry S w1 foar & vl
U wd B R W s # geee sy # giafia 5@
i Torarfaty =1 g form s wepar B, 3@ frem when
7 yurell w9 @ Aht A w1 wewd R

64. 3w ufear & dad A, frfafag geemomé

EEICRIER

1. SHA Gured § U Ry @ g@t | F
AT <l SRl T8 B

9. ofHM "@ue F g g ;@ S B ud
w4 A U IrEfow iR % 9§ Rafda
o s wear & P gl = wfe
dEl % WA AHeM W A wEEa
Tt 21

Igd A ¥ wm-w gumon /qduromd gy

2/87

(a) Had 1

(b) FHaa 2

(e) 1 3R 237M

(d Td1,A82

gfede—4
Fga-¥ @ 3 uRe yEu vd W % gey 3|
e & Ifdrd e F aform % w9 g € S wlRed
IR FR-TRE W W T 1 g T gmu e o }
ot wdl w9 % wwen A s, 7 =0 afom @ @ w-
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A9yl 3 miiE wEwT ¥ oWy @ sa-Pew
] T Bl & IR AEItE Hel-sie &) a9 ¥
T w W W e el d s R s 21 see
qfom gl & Al # waws @ s e e gan
ol wu e R, o= Yo B € awn wia-wfa O
e 21

65. Wd ¥ Hed #, Fafafaa § @ FF-w wm
uf=3g & mifdes WawT &1 gaiaq Jqur &ar
87
(@) wra A se-feeh o afw ¥ e @
e-id & forg - 7@
gl wHE Fedl & @ eafie yeas
£ et ¥ fued & fae win ganm
w§ faumh wivwat a8 &)
3 Ul wEeR W Se-Freee el
we-we el @@ % agem ¥ A
whiFd foran s =)
T TRAfeEe g 3 ewfiE @
He-vel el W @UE Weud wR
wedl A Ya st ) it & T frder B

(b)

(d)

ufede—s

UfagM & WO I A, S SR # $@ Hifds
HAfuFl &% W snewa FRar @, ST 25 IgEmun
= & T et safrdl = ofa:s ) whaa w5 el
g % Y I Y WA, A HE R YER FWA F
WA g6 B, Afe e W W@y s
30 € 98 § 99 SN H1 §9 Al ATl 399, @i
A, WIER, R qA1 36 9T & I I9GH] &
A W 7| 98 39w e wger ¥ aififs st
% Qg W A @ wd Fuifa s 81 o=t 25
1 3 i rd % fm wIee avga: U iy wve
H FET wa & Swes agar vm m # affa sm
Hifes afteil Ht aiffs waam 5 afier % o




Passage—3

Genome editing is different from genome
modification. Genome editing typically involves
finding the part of a plant genome that could be
changed to render it less vulnerable to disease,
or resistant to certain herbicides, or to increase
yields. Researchers use ‘molecular scissors’ to
dissect the genome and repair it, which is a
process that occurs naturally when plants are
under attack from diseases and can throw up
new mutations that enable the plant to survive
future attacks. This evolutionary process can
effectively be speeded up now that it is possible
to examine plant genomes in detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very
precisely.

64. With reference to the above passage, the
following assumptions have been made :

"
1. Genome editing does not require
the transfer of genes from one plant

to another.
2. Through genome editing, the
chosen genes can be altered

precisely in a manner akin to the
natural process that helps plants to
adapt to the environmental factors.

Which of the above assumptions is/are
valid?

(@)
(b} 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

1 only

Passage—4

Many people understand the connection
between solid waste management and health in
terms of the consequences of unattended heaps
of dry garbage which become home for flies
and other vermin. However, there is another

HGY-D-LKUV/59A
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aspect that is not well-understood, that is,
what happens when unscientific solid waste
management combines with poor drainage and
dumping of untreated sewage into drains which
are meant to carry storm water during rains,
The result is choked drains which are full of
stagnant water breeding mosquitoes, resulting
in the spread of water-borne diseases.

65. In the context of India, which one of the
following statements best reflects the
critical message of the passage?

(a) In India, the drainage networks
are not separate for sewerage and
storm water.

(b) Urban local bodies do not have
enough resources and legislative
authority to deal with the problems
of waste management.

fc) Solid waste management should be

integrated with the maintenance of
drainage and sewerage networks.

(d) Bad management of solid waste
and sewerage systems by our
municipalities is the reason for
drinking water shortages in our

cities.

Passage—5

In Part III of the Constitution, which assures
people certain fundamental rights, Article 25
proclaims that “all persons are equally entitled
to freedom of conscience and the right freely to
profess, practise and propagate religion”. What
people fail to notice is that this proclamation
is prefixed with the words “subject to public
order, morality, health and to the other
provisions of this Part”, which set conditions
pref:edent for the legal protection of religious
practices of any community. The closing words
of this prefatory rider in Article 25 virtually
constitute a subordination clause placing other

P PTG
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yama fiadl 81 3 o= Ofvs sifter) # fafyr &
wnel gae 1 ATt o we faftmt & off qum wre
1 ATFR e TR F & nawE ¥ 9d 918 %
wy=dal # 3@ wd & Wy fowar 3 B, o= Wl ¥
a1y, U9 el o safte o et & wgg 9 e o
& aTuR W faftrll % W weo @ dfad @ s

66. 0w uR=de W walfdw wifds f[Awwd
w1 27

(@) Tsg ifeRl % uififes amell # wwia
&t |

(b) Gaum A € W wifife w@arm § U
FELY F Rl B

(c) rTiERI 6l arfifer wdman Wi S
% B 7 7€ e |

(@) Frdt +ft vgem % wiffes (=AU U9 &
St A wfrfda €

67. W= ‘DELHI' & 4+t #1&ri &1 ¥ & g
for faftm 5-ctarl v (Fem =1 ard @
1 7 B A T GHS 8, 66 TIE W D
* WY YE Tl & 3R 1 % WY v g 87

(@) 24
(b) 18
fc) 12

(d) 6
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68. TF dilad U 39 A i 20 e wEn &) e @

zd A 6 4 efi wen we Freme & s @
R %@ B R Iafi @ wen wew v & s
21 fior @ oo 6t 4 ot g o e &
St @ 3R 3@ B <l I € urn ad =@ b

St g e v A g AR A Wi sE B

) A | sigard #4 R7
(@ 4:1
B 5:1
¢ 16:9

(d 17 : 8

69. U Sgars &1 3qdhl 5041 Ut & =g fEa W

46-4 41| 601 9l F =&, IR T Thi
2.6 =g Wl ¢ | s sa niieEt o suem ofaa
ShR =1 917

(a) 122
(b) 91
(c] 62

(d) 49

70. W= % Wid feell ge@ § 25% i 9fg &

yiummeEEy, T =Ahe € 1,200 1 6 e =0
<lae @le 9 ¥ wEa @ g fee i
oo T 17

fa) €30

- (b) ¥ 40

c) €50

(d) 60
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fundamental rights mentioned in Part III over 68. A bottle contains 20 litres of liguid A.
and above the right to religious freedom. Among 4 litres of liquid A is taken out of it and
those other fundamental rights is the right to replaced by same quantity of liquid B.
equality before law and equal protection of Again 4 litres of the mixture is taken
laws—assured at the outset and elaborated in out and replaced by same quantity of
later articles to mean, inter alia, that the State liguid B. What is the ratio of quantity of
shall not deny equal protection of laws fo any liquid A to that of liquid B in the final
person or group of persons on the basis of mixture?
religion alone.

fal 4:1

() S5:1

66. What is the most logical inference from
the above passage? fcg 16 :9
(d) 17 : 8

(a) State shall not interfere with the

religious affairs of the citizens.

69. The average score of a batsman after
his 50th innings was 46'4. After 60th,
innings, his average score increases by
2:6. What was his average score in the

(b) Religious freedom under the
Constitution is open to State

intervention. e
last ten innings?
s
(¢) Religious freedom of the citizens (@) 122
is not covered under fundamental
rights. (b) 91
(d) Religious practices  of  any (¢) 62
community are immune to State _

67. How many different 5-letter words (with 70. As a result of 25% hike in the price of rice
or without meaning) can be constructed per kg, a person is able to purchase 6 kg
using all the letters of the word DELHI’ less rice for ¥ 1,200. What was the
so that each word has to start with D original price of rice per kg?
and end with I?

fa) & 30

(a] 24

T 40
(b) 18 ®)

B

T
(© 12 fc) 50
(d 6 (d) ¥e0
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71. T =6 X el F1 w1 20%, 8 R # wwaw

el 8 3R @0 e v sd w1 # 25%,
6 Toii & qu % wwan 21 AR A W wma-any
W A 8, 9 30 F F 40% ey 74 1
U & S
(@ 6
{c) 10

(b) 8
(d) 12

72. TF $R v km/hr $t 3097 991 ¥ ©H X Q

WE Y % IE R R, Y ¥ X %
2vkm/hr i A IF A, TR XA v &
Bukm/hr H 3wd 9@ ¥ R AR v A x
@ 4vkm/hr i 0Fd W ¥ 90 FE@ B
il wel g 3 e w) 6 shwa =
(@) vkm/hrd #9598

(b) v 3R 20 km/hr % = @ 2
(c) 2v 3R 3vkm/hr % 19 ®d 2
(d) 3v 3R 4ukm/hr F €= @ &

73. Timfafas Hudi W famm £ifvm .

1. & 9 3R U 99 % Rt & frgadl
il =Tam aE 2 2

2. TF 9 3R OF g9 F yhrede & fgadl
1 sfieran w= 8 B

39 A A -9/ Fo wd 2/E7
(a) Fae 1

(b) Faw 2

¢ 1 3R 23H

(d) F@1,38 2

74. Th Al H 90 F I8 R § 517 6 s@en

a1 yare i fewn % e Bifdm g =5t = g
B A Iyl oW @ ) eEE T B we
o1, YT bl 9 B/ AT T 87
fag 1:2 b) 2:1
fe) 133 dr 3:1
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i wenel W@ fhe gm ¥, Rk il
%1 AR 63 27
(@) 3
(c) 5

(b) 4
(@) 2

afs it 2/3, 3/4, 4/5 3t 5/6 % i ain
WA § 5 sitg fan s 8, @ Aefifaa 3

4 o w % 7H e aiEdT e
(@) 2/3 (b) 3/4
fe) 4/5 (d) 5/6

TF 3 n>3 959 8 30 ARk 6 R e &
3| Frafefad @ & - v 4 ¥ wsg 27

(@) 2n (b) 3n
fc)] 2n+4 (d) 3n+1

e 1 Wi uF W oum 1kg R, @ fra
o firefifiet oFlt %1 7 0-1 gm g7

(@) 1 (b) 10

(c) 100 (d 1000

Tl & W Y T a6 H R 40 kg 31 AR Tw
G- WO gen B, o gWE YR 20 ke @
ST 8 | @reft s 1 91 @ 27

(@ 10 kg

(b) 15 kg

(¢) 20 kg

(d) 25 kg

T e fhuer arelt deil 9/t 45 m TR
@ F ¥ TR 3R A B w2 v
IR He® 30 cm Gaskal ¢ AR 15 cm A9
ek San g1 FE A A 9N F e Fow F

Ao Sl g R demn w7 R
(@) 28 () 29
(c) 30 (d) 31
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71. A person X can complete 20% of work

in 8 days and another person Y can
complete 25% of the same work in
6 days. If they work together, in how
many days will 40% of the work be
completed?

(a)] 6 (b) 8
c) 10 {d) 12

72. A car travels from a place X to place Y at

an average speed of v km/hr, from Y to
X at an average speed of 2v km/hr,
again from X to Y at an average speed of
3v km/hr and again from Y to X at an
average speed of 4v km/hr. Then the
average speed of the car for the entire.
journey

fa) is less than v km/hr

(b) lies between v and 2v km/hr

(c) lies between 2v and 3v km/hr

(d) lies between 3v and 4v km/hr =

73. Consider the following statements :

1. The minimum number of points of
intersection of a square and a circle
is 2,

2. The maximum number of points of
intersection of a square and a circle
is 8. \

Which of the above statements is/are

correct?

(@) 1 only

{b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

74. A man takes half time in rowing a certain

distance downstream than upstream.
What is the ratio of the speed in still

((Z7)

f’ Q‘\—'

EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

75. How many pairs of natural numbers are

there such that the difference of whose
- squares is 637
fd) 3

(c) 5

(b] 4

(@ 2

76. Which one of the following will have
minimum change in its value if 5 is
added to both numerator and the
denominator of the fractions 2/3, 3/4,
4/5 and 5/67?
@ 2/3 (b] 3/4
() 4/5 (d) S/6

77. A digit n> 3 is divisible by 3 but not
divisible by 6. Which one of the
following is divisible by 4?
(@) 2n (b) 3n
¢ 2n+4 (d) 3n+1

78. If 1 litre of water weighs 1 kg, then how
many cubic millimetres of water will
weigh O0-1 gm?
(a) 1
{c) 100 (d)

79. A vessel full of water weighs 40 kg. If it
is one-third filled, its weight becomes
20 kg. What is the weight of the empty
vessel?
(a) 10 kg
(b) 15 kg
(c) 20 kg
(d) 25 kg

(b) 10
1000

80. A frog tries to come out of a dried well
45 m deep with slippery walls. Every
time the frog jumps 30 cm, slides down
15 cm. What is the number of jumps
required for the frog to come out of the

water to the speed of current? well?

@ 1:2 () 2:1 (a) 28 (b) 29

g 1:3 d 3:1 (e) 30 (d) 31
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1 1D 31 D 61 r
2 A 32 A 62 G
3 € 33 C 63 A
4 A 34 B 64 &
5 B 35 B 65 C
6 £ 36 D 66 B
7 A 37 C 67 D
8 B 38 A 68 C
9 g 39 C 69 £
10 A 40 D 70 B
11 B 41 D v, ! A
12 B 42 B 72 B
13 C 43 & 73 B
14 B 44 D 74 D
15 C 45 C 75 A
16 C 46 D 76 D
1f 2 47 D o D
18 A 48 ID 78 ¢
19 B 49 D 79 A
20 5. 50 c 80 1B
21 B 51 D
22 A 52 D
23 g 53 B
24 A 54 B
25 B 55 C

126 C 56 A
27 D 57 c
28 @ 58 B
29 D 59 C
30 C 60 A
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